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[edit]

user@router$# show interfaces

100 { (;()(‘\

crpypli6T >
tj\()g;,ii address 1.1.1.1/32;

}

family iso {

address 49.0001.1521.6800.1001.00;

Which statement is correct about the ISO NET address shown in the exhibit?
* The system identifier is 6800.1001.00

* The areaidentifier is 0001

* The authority and format identifier (AFI) is 00

* Thisisnot avalid NET address

Q47. Exhibit.
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M\ Exhibit

inet.0: 128 destinations, 173 routes (128 active, 0 holddown,

+ = Active Route, - = Last Active, * = Both

11.0.0.102/32 *[I8-IS8/18] 3wOd
to 11.101.102.

> to 11.111.112.

11.0.0.108/32 =[IS-I5/18 3wld

Destination Type RtRef Next

NhRef Netif

1=}
0
o

Type Index

l 11.0.0.102/32 user 1 ulstc
1048588 16

f 11.111.112.2 ucst

699 6 ge-0/0/6.0

T 11.0.0.108/3 user 0 ulst

1048588 1€
. " "

.......... 2.2 ucst

11.111.112.2 ucst

I & L) ulst

11.101.102.2 ucst

o
w
a
o
e
i
|
~
q
-
n
[

Referring to the output shown in the exhibit, which statement is correct?
* 11.0.0.108.32 is being per-flow load-balanced.

* 11.0.0.102/32 is being per-flow load-balanced.

* 11.0.0.108 is being per-packet |oad-balanced.

* 11.0.0.102/32 is being per-packet |0ad-balanced.

Explanation

https://www.juniper.net/documentation//en_U S/junos/topi cs/usage-guidelines/policy-configuring-per-packet-load
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Q48. Click the Exhibit button.

R1 R2
Priority 128 Priority 64

=OM\

Priority 160 Priority 0 Priority 32

Referring to the exhibit, which router will be selected asthe DR?
* R1
* R5
* R4
* R3

Q49. What are two advantages of a point-to-point OSPF adjacency? (Choose two.)

* Only aDRiselected.

* Notype 1 LSAs are generated.

* No type 2 LSAs are generated.

* Thereis quicker neighbor establishment.

Q50. Which statement is true about the configuration shown in the exhibit?
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* The preferred next hop is 172.30.25.5.

* The preference for the 172.30.25.5.1 next hop is 7.
* The preference for the 172.30.25.1 next hop is 5.

* 172.30.25.5.1 isthe preference next hop.

Q51. Click the Exhibit button.
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ussr@router> show bgp neighbor 192.168.200.2
Pesr: 192.168.200.2+179 A8 11685 Local: 192,.168.200.1+49469 A3 7029
Type: External State: Esatablished Flags: <ImportEval Sync>
Last State: OpenConfirm Last Event: RecvEeepAlive
Last Error: None
Cptions: <Preference AddresaFamily FPeerAS LocalAS Rib-group Refresh>
Address families configured: inet-unicast inet-vpn-unicast 12vpn— i
Holdtime: 90 Preference: 170 Local AS: 7029 Local Byutam AS:
Number of flaps: 0O

Peer ID: 10.8.241.31 Local ID. 10.8.2 ime: 350
Feepalive Interval:30 p in x 5
BFD: disabled, down

Local Interface: xe-04243.
NLRI for .r:opt.nrt con o' ot —unicast inet-vpn-unicast 1l2vpn
NLRI advex B caat

N’X..RI fo st-unicast

- = capabilicy (2)
Stu rom peer are kept for: 300
s not support Restarter functionality
RI that reatart is negotiated for: inet-unicast
NLRY of received end-of-rib markers: inet-unicast
NLRI of all end-of-rib markers sent: inet-unicast
Peer supports 4 byte AS extension (peer—as 11685)
Paear doss not support Addpath
Table inet.0 Bit: 10000
RIB State; BGP restart is complete
Send state: in sync
Actiwe profixes:
Received prefixes:
Accepted prefixes:
Suppressed due to damping:
Advertised prefixes:
Last traffic (seconds): Received 17 Sent 17 Checked 17
Input messages: Total 2 Updatses 1 Refreshes O Octats 42
Cutput messages: Total 3 Updates 0 Refreshea O Octets 136
output Queus[D]: 0O

= =0 = = =

Y our router is configured to peer with your 1SP&#8217;s router using BGP. Y ou can only control your BGP configuration.

Which address families are negotiated between the two BGP peers shown in the exhibit?
* inet-unicast inet-vpn-unicast 12vpn-signaling

* inet-unicast

*inet-vpn-unicast

* inet-unicast inet-vpn-unicast 12vpn

Q52. You do not want any spanning tree protocols operating in your environment, and you want to ensure that no BPDUs can be
introduced into the environment.

Which statement is true in this scenario?

* Y ou must run a spanning tree protocol to block BPDUSs.

* Incoming BPDUs are blocked by default if a spanning tree protocol is not operating.

* Y ou can block BPDUs without running a spanning tree protocol using Layer 3 control.
* Incoming BPDUs can only be blocked by the root bridge.

Q53. Which protocol supports tunneling of non-IP traffic?
* GRE
* SSH
* |Psec
* |P-IP

Q54. Which three statements describe what happens when processing a frame for a switched packet? (Choose three.)
* Theingress PFE performs the MAC address |ookup.

* The frame enters the ingress port and is forwarded out al ports.

* The frame enters the ingress port and is processed by the ingress PFE.
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* The ingress PFE sends the header information to the Routing Engine.
* The egress PFE forwards the packet out the egress port towards the destination.

Q55. Which OSPF packet type is sent when an OSPF router detects its database is state?
* Database description

* Hello

* Link-state acknowledgment

* Link-state request

Q56. In which adjacency state do OSPF routers determine which router isin charge of the database synchronization process?
* ExStart

* Exchange

* 2Way

* |nit

Q57. You have configured OSPF routing as shown in the exhibit. Y ou notice that all interfaces have

formed full adjacencies, with the exception of the interfaces connecting R3 and R4 with a status

of 2Way.

What is the reason for this status?

M\ Exhibit

R1 (RID: 10.10.10.1) R2 (RID: 10.106‘;“

) estsAS D o

o
2

DROther DROther

R3 (RID: 10.10.10.3) R4 (RID: 10.10.10.4)
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* DROther routers will not form afull adjacency with each other.

* The two routers must both be configured as DR routers.

* The interface-typeis not configured as p2p.

* The two routers must be configured in different areas.

https://kb.juni per.net/I nfoCenter/index ?page=content& id=K B14881

Q58. Y our switches are managed using Junos Space Network Director. Y ou want to secure the

switches using a Network Director filter profile.

A filter profile containing one term shown In the exhibit is deployed to ports on managed devices.

Edit Term 1

Tetm name* 1

B Source and Destinabion Parameters

Source Parameters Destination Parameters

S 5\)"8 Gom

u Protocols and Etherntypes
B DSCP Settings
B TCP Setings

B 1Cw Seftings

. Ao
ACTOn Discard & Ac (L |
Counter name Count Unauthonzed
Loss priotity NONE -

Which traffic will be accepted by the filter?

* Traffic containing a destination MAC of 02:85:05:00:00:00/24 will be accepted.
* All traffic will be accepted.

* Traffic containing a source MAC of 02:85:05:00:00:00/24 will be accepted.

* No traffic will be accepted.
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Q59. You have an OSPF NSSA areathat is also receiving |S-1S routes on the ASBR.

In this scenario, which LSA type is used to announce external |S-1S routes?
* Type7
* Type8
* Typel
* Type4

Q60. You want to configure Layer 2 services over an | P-based tunneling mechanism between two sites. Which configuration

statement is required to accomplish this task?

* Set interface gr-0/0/0.0 family bridge

* Set interface ip-00/0/0.0 encapsulation valn-bridge
* Set interfaces gr-0/0/0.0 encapsul ation vlian-bridge
* Set interface ip-0/0/0.0 family bridge

Q61. Exhihit.
***Exhibit is Missing***
Which two statements are correct. (Choose two.)

* Route 2001:2244:3311:321:233::.128 has been prepended.
* The active path t02001:2244:3311:321:233::.128 will exist using interface irb.433.

* Route 2001:2244:3311:321:233::.128 will be advertised to an EBGP peer in AS 62553.

* The AS path shows two hops to their IBGP routers within autonomous system 62553.

Q62. Which deviceis used to separate collision domains?
* hub

* firewall

* switch

* router

Q63. What are two interarea OSPF L SA types? (Choose two.)
* Type 1router LSAS

* Type 3 summary LSAsS

* Type4 ASBR summary LSAs

* Type 2 network LSAs

Q64. Click the Exhibit button.
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R3
PriorM
\f(t@ \20710.3
L2

R1
Priority: 255
RID: 10.10.10.1

1sAS
A\

QT

ik | B
|

R2
Priority: 255
RID: 10.10.10.2

A | I3,
W |

R4
Priority: 128
RID: 10.10.10.4

Referring to the exhibit, which router becomes the OSPF DR when all routers are powered on at the same time?
* R3
* R4
* R1
* R2

Q65. You want to advertise only a default route into a new area, which will be called area?. In this
scenario, which configuration statement would solve this problem?

* User@host t# set protocols ospf area 0.0.0.7 nssa default-lsa default-metric 10

* User@host # set protocols ospf area 0.0.0.7 stub no-summaries

* user@host # set protocols ospf area 0.0.0.7 stub default& #8211;metric 10

* user@host # set protocols ospf area 0.0.0.7 stub

Q66. Y ou want to prevent rogue BPDUs from lab devices reaching the internal through the Lab_Switch

device.
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Lab Switch

ge-0/0/2 R

&1 G

; : ge-0/0/3 & &i'

[ —%“
\09:

uaergag _Sh tch> =how spanning-tree interface

Spanning—tree is not snabled at global level.

[—cp.92-%/0/4,

o “Internal network

[=—=c1I

userlLab_ Switch> show interfaces descriptions

Interface Admin Link Description
ge—-0/0/1 up up Lab Port 1
ge-0/0/2 up up Labk Port 2
ge-0/0/3 up up Lab Port 3
xe—-0/2/0 up up internal network

Referring to the exhibit, what should be done to accomplish this task?

* Configure the three lab ports as edge ports

* Configure an input filter on interface xe-0/2/0 to discard the RSTP packets

* Configure the three lab ports under the protocols layer2-control bpdu-block hierarchy on the

switch
* Configure protocols rstp with the bpdu-block-on-edge parameter for interface xe-0/2/0
https://www.juniper.net/documentation/en_U S/junos/topi cs/reference/configuration-

statement/bpdu-bl ock-edit-protocol s-layer2-control .html

Juniper JNO-349 Certification Exam is designed specifically for individuals who want to gain certification in enterprise routing and
switching. JNO-349 exam is intended to test an individual's knowledge of the Junos OS, which is Juniper Networks' proprietary
operating system. The JN0O-349 exam is the second level of certification in Juniper's Enterprise Routing and Switching track, and it is
designed to validate the skills of network administrators and engineers.
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